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21-30 d
31-40 d
41-50 d
51-60 d

1d

63
22

12
68

10

85

14.12
25.88

5.89
1411
80.00

11.77

3

N = 307
107 34.85
200 65.15
21 6.84
188 61.24
64  20.85
34  11.07

8 2.61

N = 392
170 43.37
222 56.63
21 5.36
193 49.23
76 19.39
102 26.02

18

4.59



3()
1-4
5-8
9-12
13-16
17-20
20
4,
/
3
170
49.23
91 23.21
16.27
85 63
25.88
80.00
ot 38

38

17

A7
38

62

85 N = 307 N = 392
4471 31 10.10 69  17.61
10.59 52 16.94 61  15.56
2.35 89 28.99 9 232
5.88 7 25.08 82 20.92
4.70 21 8.79 31 1.91
20.00 23 1.49 40  10.20
3 0.98 3 0.77
5530 252 82.08 299  76.27
44.70 52 16.94 90  22.96
392
222 ' 56.63
31-40 193 '
9-12
1 299
14.12 22
51-60 68
, , ' 1-4
4471
AT 55.30
307 107



34.85

82.08

g1 BB W PO -

188

4.2

200

9-12

280s
2.95
3.07
3.29
2.69
3.08

3.01

65.15
61.24
89

N = 85
SD.

0.66
0.71
0.70
0.42
0.98
0.87

0.78

28.99
252

(5.D.)

N = 307
X S.D.
3.00 0.88
2.84 0.77
2.82 0.74
2.64 0.89
2.15 0.91
2.90 1.02
2.82 0.88

63

31-40

N = 392

X
3.01
2.81
2.88
2.78
2.13
2.94

2.87

S.D.
0.81
0.75
0.74
0.87
0.93
0.99

0.86



(X = 3.01)
2.73)

=
T

(X = 2.64)

oy Ol B W N

10
11

12

(X = 3.00)

X

e
3.18
2.85
1.67
2.84

2.34
2.58
2.11
3.02
2.20

2.01
2.21

2.57

85
S.D.

0.70
0.74
0.51
0.83
0.87

0.86
0.85
0.87
0.80
0.73

0.76
0.83

0.85

i
(X = 3.29)

(X = 2.69)

(5.D)

N = 307 N = 392
X SD. X SD.
3200 070 3.20  0.70
323 068 3.22 0.70
270 075 273 0.74
157 071 159 0.74
268 081 272 0.82
231 022 232 083
229 078 235 .82
236 077 243 081
294 077 296 077
224 080 223 078
212 084 210 082
205 085 208 0.84
247 082 249 0.1

64



5
(X = 3.20)
(X = 1.67)
(X = 3.23)
(X = 1.57)
6 (X)
N = 85
X S.D.
3.01 0.78
2.57 0.85
6
(X = 2.87)
(X = 2.49)
(X =3.01)
(X = 2.57

65

(X = 3.22)
(x = 1.59)
(5.D)
N = 307 N = 392
X S.D. X S.D.

2.82 0.88 2.87 0.86
24T 0.82 2.49 0.91

(X = 2.82)

(X = 2.47)



1 100
2 90,59
3 81.18
4 98.82
5 | 42 35
6 100
7 9765
(V.D.0))
g 97.65
(SLIDE)
9 Yyl 100
(OVER HEAD)
10 98.82
11 91.76
7
100
99.67

85

0.00
9.41
18.82
1.18
57.65
0.00
2=35

2.35

0.00

1.18
8.24

57.65

N = 307
99.67  0.33
90.68  9.12
1152 2248
100.00  0.00
47.56  52.44
97.07  2.93
97.39 261
9339  2.61
971.712  2.28
98.05 1.95
94.14 5.86

78

66

N = 392
99.74  0.26
90.82  9.18
78.32  21.68
99.74  0.26
46.43  53.57
97.70 230
97.45  2.55
97.45  2.55
98.21 1.79
98.21 1.79
93.62  6.38

52.44
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10
11

d

(SLIDE)

(OVER HEAD)

X

3.16
3.04
3.06
3.12
2.78
2.89
3.06
2.94

3.58
3.69
3.05

3.15

85

S.D.

0.70
0.81
0.81
0.64
0.58
0.81
0.75
0.55

0.90
0.82
0.89

0.78

67

8
(5.0.)
N = 307 N = 392

X S.D. X S.D.
2.66 087 278 0.88
2.11 0.76  2.83 0.77
2.56 083  2.67 0.86
2.75 0.75  2.83 0.76
2.16 0.89  2.29 0.78
2.13 083  2.77 0.82
2.71 083  2.79 0.83
2.60 083  2.67 0.80
2.69 0.88  2.82 0.82
2.79 083 291 0.78
2.65 099  2.87 0.79
2.69 083 277 0.81

(X = 2.29)



(X = 3.69)
(X = 2.79)
(X = 3.15)
X = 2.77)
4.3
9
9
2.

56
29

[
14

85

65.88
34. 12

83.53
16.47

68

o ill
(X = 2.78)
(X = 2.16)

(X = 2.69)

N = 307 N =392

206  67.10 262  66.84
101 3290 130  33.16

244 7948 315  80.36
62 20.52 M 19.64



04.17

19.48

10

67.10

66  77.65
19 2235

17.65

10

N =85
X SD2

2.19  0.72
0.63

3.24

69

N = 307 N =392

197 6417 263 67.10
110 3583 129 32.90
65.88
83.53
(5.D)
N = 307 N = 392

X S.D. X SD.

269 078 271
3.02 0.69 3.07

0.77
0.69



0 ()

10

X
2.95
3.15
2.85

2.30

(X = 3.07)

85
S.D.

0.80
0.69
0.77

0.75

(X = 2.70)

10

N = 307 N = 392
X S.D. X SD.
2.64 087 270 0.85
296 071 3.00 071
282 085 283 082
283 079 286 0.79

(X = 3.24)

(X = 2.79)



11 (X)

N =85

X

2.61
2. 12
151
2.04
2.56
2.18
2.09

M1A

~N O Ol BB LW PO -

2.24

11
(X = 2.61)
(X = 2.61)

(X = 2.51)

S.D.

0.77
0.79
0.64
0.69
0.79
0.69
0.73

0.84

[

(S.D.)

N = 307 N = 392
X -SD. X SD
251 083 254 0.82
193 086 197 0.5
137 068 140 0.7
175 100 1.90 0.76
204 085 215 0.87
244 079 251 0.78
186 078 191 077
200 087 206 0.86

(X = 1.40)
(X = 1.51)
(X = 1.37)



12

12 (X) (S.D.)

N =85 N = 307 N = 392
X S.D. X S.D. X SD.

230 075 283 079 286 0.79
204084 200 087 206 0.86
12
(X = 2.30)
(X = 2.83)

4.4
13-18
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13

13

(X = 2.35)

N = 85
X SD.
308 073
316 067
231 094
289 0.72
327 0.60
314 068
319 061
300 0.70
307 075
101 073
305 (.72
302 0.74
(X = 2.34)
(X = 2.31)
(X = 3.18)

13

(S.D.)

N = 307 N = 392
X SD. X SD
295 070 298 0.71
291 068 296 068
235 090 234 091
265 070 270 069
315 059 318  0.60
318 067 3.5 0.76
292 068 297 068
292 062 293 0.64
291 063 294 066
300 069 298 0.76
274 067 280 0.70
288 072 291 074

(X = 3.18)

(X = 3.27)



14

N = 85
X SD.
1 312 0.65
2 313 0.56
3 348 0.66
4 364 054
5 315 0.71
6 3.40 065
7 341 0.65
8 351 0.62
g (
281 0.75
326 0.70
14
(X = 3.32)
(X = 3.64)
(X = 2.81)
(X = 3.23)

(X = 2.63)

14

(S.D.)

N = 307 N = 392
X SD. X SD
272 075 280 0.5
282 068 288 071
308 072 317 0.73
323 074 332 0.72
276 067 284 070
296 076 3.00 076
278 070 285 071
318 076 325 0.74
263 085 267 083
291 077 290 0.0

(X = 2.67)



15 (X)
1
2
3
1 .
5
6
15
(X = 3.23)
(x =2.98)
(X = 3.46)
(X = 3.14)
(X = 3.17)

(X = 2.94)

N =85

X

3.14
3.28
3.31
3.46
3.31
3.26

3.29

S.D.

0.66
0.62
0.57
0.58
0.53
0.75

0.65

N = 307

X

2.94
3.03
2.97
3. 17
3.14
3.13

3.06

S.D.

0.61
0.67
0.63
0.68
0.63
0.64

0.65

15

N = 392

X

2.98
3.08
3.04
3.23
3.18
3.16

3.11

S.D.

0.62
0.66
0.64
0.67
0.62
0.67

0.65



10

11
12

fi

16

N =85

X

2.95

3.14

2.99

3.00

2.91

2.91

2.81
2.82

3.05

2.87
2.58

2.81

2.90

S.D.

0.76

0.85

0.74

0.75

0.73

0.71

0.78
0.77

0.71

0.80
0.73

0.65

0.77

N = 307

X

2.68

3.02

2.75

2.67

2.79

2.12

2.67
2.68

2.84

2.62
2.64

2.69

2.73

S.D.

0.70

0.67

0.66

0.69

0.71

0.73

0.80
0.75

0.77

0.73
0.65

0.70

0.72

&

N = 392

X SD.
2.74 0.71
3.05 01
2.80  0.69
2.74  0.72
281 0.72
2,76 0.73
2,70 0.80
2,711 0.75
2.89  0.76
2.68 0.74
2.63  0.67
2.12 0.69
2,17 073



(X = 3.05)

X = 3.02)

17

fi 16

(X = 2.58)

1

(X = 2.63)
(X - 3.14)
(X = 2.62)
(5.0
N = 85 N = 307 N = 392
X SD. X SD. X SD.
302 068 280 064 284 0.66
3.5 066 275 0.68 284 0.68
3.5 069 277 070 285 0.71
324 066 290 071 297 0.72
332 064 304 071 310 071
3.8 065 285 070 292 071



(X = 3.32)

18

18

f

17

18

(X = 2.75)

N = 85

X

3.02
3.26
3.29
2.90

3.18

S.D.

0.72
0.70
0.65
0.77

0.65

18

) 1
3.10)

(X = 2.84)

(X = 3.02)
(X = 3.04)

(5.D)

N = 307 N = 392
X SD. X SD.
288 072 291 0.74
290 077 2.90  0.90
3.06 065 311 0.5
273 072 277 0.73
285 070 292 0.71



19

(X = 3.11)
(X = 2.77)
(X = 3.29)
(X =2.90)
(X = 3.06) (X = 2.73)
4.5
(Rating Scale) 35 1 5
L. . (Credibility)
2. (Context)
3. (Content)
4, (Clarity)
D. 1 (Continuity and Consistency)
: (Channels)
1. (Capability of Audience)
19
(X) (5.D)

1 . 131



19 (X)
19
(X = 3.25)
2.70)
(X = 2.72)
(X = 3.18)
2.65)
(X = 2.96)

N = 85
X S.D.
3.48  0.60
3.32 0.65
3.38 0.38
312 0.74
3.19  0.73
3.20  0.73
2.12  0.88
3.20  0.73

(X = 3.48)

(X = 2.88)

N=3
X

3.18
2.91
2.88
2.80
2.81
2.93
2.65

2.88

07
S.D.

0.74
0.68
0.65
0.71
0.69
0.74
0.79

0.73

60

N = 392

X

3.25
2.88
2.99
2.93
2.89
3.06
2.96

2.96

S.D.

0.73
0.85
0.99
0.58
0.71
0.52
0.76

0.76

(X = 3.20)



4.6

20

20

N = 85

X S.D.
252 0.78
229 0.89
2.19 091
220 0.84
222 0.88
2.24 101
2.28  0.75
2,14 0.76
2.04 0.70

»

(5.D.)

N = 307

X

2.63

2.31

2.44

2.32

2.34

2.33

2.26

2.24

2.13

S.D.

0.84

0.81

0.79

0.76

0.80

0.82

0.74

0.76

0.79

61

1

N = 392
X SD.
2.60  0.83
223 0.90
239 0.84
229 0.78
231 081
231 0.87
221 0.74
222 0.76
2,11 0.77



10

11

12

13

14

15

16

17

18

19

fi

20

N =85

X S.D.
1.84 0.70
182 0.75
1.67 0.96
2.14 080
2.08 0.89
2.06  0.80
213 0.90
200 084
1.88  0.86
196 0.76

N = 307

X

1.85

1.86

1.96

2.22

2.08

2.35

2.26

2.31

2. 26

2. 15

S.D.

0.69

0.75

0.73

0.83

0.83

0.87

0.83

0.89

0.86

0.78

62

N = 392

X SD.
185 0.70
1.85 0.75
1.90 0.60
221 0.82
2.08 084
2.28 087
223 0.85
2.24  0.89
2.18  0.87
211  0.78



20

20
2

22

23

24

25

(X = 1.85)

20

N = 85 N = 307
X SD. X SD.
219 078 235 0.88
220 076 223 098
214 079 234 081
193 073 222 0.79
201 079 229 0.86
178 076 191 0.85
208 084 223 084

(X = 2.60) )

83

N = 392

X SD.
231 0.86
222 0.94
230 081
2.16 0.78
223  0.86
1.88 0.86
220 0382



(X = 2.52)
(X = 1.67)
(X = 2.63)
(X = 1.85)
(X = 2.20)
(X = 2.08)

(X = 2.23) ]

84
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